K B AT

EL - D& - LIERIERAS
HERRICDINT

SFTE10H3H
TEEIZE CEIERE

B& D

<tz




1 BEAODEZS

FE BEAOD @#@A0] | EEAQ 418#]
H27 8, TI9A 9, 464 A
H28 9,290 A
H29 9, 093 A
H3O0 8,925 A
H3 1 8, 828 A
H32 8, 179N |
[BR 7 #7]

ERl#ER (R4 - #5H)

EAOANE#

EEAO [(EiHkE]

8, TI9A

| EEAD
= Ty

KBTFRRERE, REFREHE

IERINFAAIBREOFEEAOMNSEHBAAOZHITITSE. 8, 189AEGY, BEADL
T dE HOADE LAY, REERK. BEAODZTE>TLSRRETHD.

LALERS. BOBITNHTHELD (A1402A110) [TEELT, ChIEFERIEIAHL S
ABDBEE--EFREFEDERICLSIEDOTHY . BB (BZA—ERH) O T
B/ (+2) £GHAEREGE ST, _

SERLEIETHREAOABIDZARGRYNALIMYBAZED T BENH D,




2 HEAXBETCTTEDODAIHEHEDSEERIHEE
L omer | =em s@E | =mE | =@E BiEfE
No. EXEH B BA oermr) | (2%mE) | (RsEm) | 9w | aisomm) | oBiEm)
| |lRRLERREAINT B |REEK x 5. 525 5. 462 5. 481 5.430 | 5,432 4, 450
BB (GA-EH) x A 112l A 83 A 73 A 90 2 A 62
2 B LLADTNEDC S |XHAD BREH) | A | 648. T7FA | 617.4F A | 661.3F A | 644. 4F A | 657.2F A | 775.0F A
£2A0 (15~308) | A 2076 1979 | 1,922 1. 835 1,798 1. 647
EOBROBE - HE - |, . N
3 (ELEROBSE WE- |epan o~1am) A 1.076 1,055 1.000 | 975 971 850
4 |BRICA-EHES< Y |COS0MEE s X | B 0 0 0 0 0 :




3 KPI (EEXEF

HBEAR) D&S

4

ERHERE — @

EK| HEED R L omeE | m=E | R=GE | 26l | =6 | BEE
TR RN S KPI BT (e | (Ho7 ) | (Hose ) | (H2om ) | (Hsose ) | (H31 2
SREERBIELORAER| A 15 16 28 30 32 30
LS BREDER
RUREE -BlZ2EOXE
L BIASTIEL-R - Bl 5| # 2 0 0 1 0 6
J ?iw%w
A
FELR O EE PRELILENETELEY | # 3 3 3 3 3 4
PEFBOEEEEER |
GREEERSRF = 0 0 0 40 40 12
SRR s as (FEECRERRER. T
E DR U HE DR T ,
RE7/A—FERBREY | & 0 0 0 0 0 2
BT EED
iy . D FER 7
it A B EEOEBEYK # 0 16 12 52 5 20
DHBHZ) DI \
| TERER U IOBRER| 0 6 6 7 14 10
2 :
EHEM R EEENTUMRESE — | REHE | REWE | KEM | REMR | REKE| Ehk
B - EEEEORIH Bl [ RAE—YABE-1_UMEOFEE | & 3 3 1 5 4 6
ZROLEKR |BERERORE B ERA-A—y OBEES| # | 59,000 | 65,178 | 86,583 (108,490 |173,921 | 75,000
ML EREN DT RIRE # 0 1 1 1 1 3|

HHEREOTRERER




3 KPI (EEXES

HEiHEAR) D& S

ER#FE — @

x| HEOD A | omem | mem | o=gE | =eE | =we | sem
BiE| #EA RASH7I R KPI BT (oot | (H27 %) | (Ho8&RE) | (H29%E B | (Moo i) | (a1 2 )
BEWTIEDHE MERSSHRER(HER | A 55| 32(44)| 38(47)| 57(63)] 50(52) 50
mgﬁzw
= ‘
FETEREOEHE R BSRS HRFT EE AE | T 13 13 13 13 13 13
ﬁﬁg':ﬁ”f:%%@ EEBESNEY A 0 0 12 0 0 [ZE~120
3
, 1%E AR RS INE A 0 15 0 0 0 |ZE~160
ggﬁg@ HELDBEDEIH -
SR K — R E N A 0 0 0 o] 0 50
B FRIE |EReSRER (RENYILE) | M 25 16 22 20 23 35
_— S B, BAAERO—BAOEEK| &K 53 53 53 49 49 53
SLUBE  |ascEmEson
o FTURSEOERBEY K&l — — — - - 2
INSEHL A E R E LT e
- EMFAREEOREE | % | kAL | RAE | kFE | RFAE | KkFE| 100
%fé‘?‘('@ﬁ BRI TRS AV ‘
AEIEROFIFAEY A |335.184 |406,265 |382,045 |377,675 |371,387 |352,000
ICTOREI-SORBEED |5y nn—trgs | 0 0 0 0| it | Sttt

HER

— 4 —




